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QUESTION 1

Which two features are provided by decision tables? 

A. Sets of input data can be bucketed and reviewed for gaps. 

B. Data sets can be reviewed for conflicts. 

C. Data can be used for only one rule evaluation. 

D. A rule evaluation can be used only to enter new output data. 

Correct Answer: AB 

After you create a Decision Table there are operations that you may want to perform on the Decision Table, including
the following: 

(A)

 Find and fix gaps in a Decision Table 

(B)

 Finding and resolving conflicts between rules in a Decision Table Compact or split cells in a Decision Table Merge a
condition or split a condition in a Decision Table 

A: * Compact the Decision Table 

In this step you compact the rules to merge from eighteen rules to nine rules. This automatically eliminates the rules that
are not needed and preserves the no gap, no conflict properties for the Decision Table. 

* The Conditions area in a Decision Table includes one or more condition rows. Each condition row has a condition
expression and, for each rule, a condition cell. A condition expression is an expression that you build in Rules Designer.
The condition expression is often a fact property or a function result, but it can be any expression that has a type that
can be associated with a bucketset. 

B: A Decision Table displays multiple related rules in a single spreadsheet-style view. In Rules Designer a Decision
Table presents a collection of related business rules with condition rows, rules, and actions presented in a tabular form
that is easy to understand. Business users can compare cells and their values at a glance and can use Decision Table
rule analysis features by clicking icons and selecting values in Rules Designer to help identify and correct conflicting or
missing cases. 

 

QUESTION 2

Identify the best description of the recommended use of shared storage in a high-availability (HA) implementation of
Oracle SOA Suite? 

A. To allow access to a common installation home for all domain cluster members 

B. To allow access to a shared JTA log 

C. Shared storage is not recommended for Oracle SOA Suite. 
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D. To allow access to the default user store on the file system for all domain cluster members 

Correct Answer: A 

 

QUESTION 3

A partner needs to access services that are defined in one of your Service Composite Architecture (SCA) applications
via a web service interface. Which approach (and accompanying reasoning) describes a loosely coupled and robust
solution? 

A. Use Oracle Service Bus to provide an Interface layer over your SCA application. This enables you to hide the
locations of your SCA application, perform load-balancing across those endpoints, and provide the ability to define
service level agreements to help ensure that you are meeting your contractual obligations to the partner. 

B. Use the Mediator component to provide a web service interface to your SCA application. This arrives you the
flexibility of using the industry standard XSLT technology to perform translation and transformations. 

C. Use Oracle Service Bus to provide an interface layer over your SCA application. This enables you to "skin" your SCA
application with a web service interface and still provide a robust experience to the partner. 

D. Allow the partner simply to connect directly to the SCA application. This provides the best performance and helps
keep the partner happy. 

Correct Answer: A 

*

 Oracle Service Bus supports the following capabilities for the transformation or processing of messages: 

/ Transforms messages based on XQuery or XSLT etc: Validates incoming messages against schemas Selects a target
service or services, based on the message content or message headers Transforms messages based on the target
service Supports transformations on both XML and MFL messages Message enrichment Supports callouts to Web
services to gather additional data for transformation (for example, country code, full customer records, and so on) 

*

 Oracle Service Bus Intermediary 
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QUESTION 4

You have defined an event. You now want to trigger that event from an existing Mediator component. 

How do you link the event to the Mediator so that the Mediator can raise the event to the Event Delivery Network
(EDN)? 

A. Use the SOA Composite Editor to specify the event as a property on the incoming wire into the Mediator component. 

B. Use a text editor to modify the .edl file that defines the event so that the Mediator is identified as a publisher. 

C. Use the SOA Composite Editor to add a raise action to the Mediator\\'s .mplan specification file. 

D. Use Enterprise Manager to associate the Mediator with the appropriate event. 

Correct Answer: C 

Note: 

* What Happens When You Create and Subscribe to a Business Event 

The source code below provides details about the subscribed event of the Oracle Mediator service component. 

Example, Subscribed Event 
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QUESTION 5

By using the System Component Architecture (SCA) test framework, you can create tests for which three items? 

A. Reference binding components 

B. Service components like a Mediator 

C. Wires 

D. Invoke activities in a BPL process 

E. Composite sensors 

Correct Answer: ABC 

The test framework supports testing at the SOA composite application level. In this type of testing, wires (C), service
binding components, service components (such as BPEL processes and Oracle Mediator service components) (B), and
reference binding components (A) are tested. 
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